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AQA - Amines — A2 Chemistry P3

1. June/ 2019/Paper_3/No.27

Methylamine reacts with bromoethane by substitution to produce a mixture of

products.

Which compound is not a possible product of this reaction?

A C;HsNHCH;
B (C.Hs).NCH;
C [(CyHg)sNCH,]" Br-

D [(C2Hs)2N(CHa)2])" Br~

2. June/2021/Paper_3/No.30
A two-step preparation of propylamine is shown.

bromoethane — X — propylamine

What is X7

A CHaCH2CHzNH:2
B CHiCH.CN
C CHiCH-CH-Br

D CH3CH:NH>
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[1 mark]

[1 mark]
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3. June/2021/Paper_3/No.32

Methylamine reacts with bromoethane by nucleophilic substitution to produce a
mixture of products.

Which is not a possible product of this reaction?
[1 mark]

A CyHsNHCH3

B (C2Hs)2NCHs =

C [(CaHs5)aN(CHa)z]* Br- —

D [(C2Hs)sNCHa]*Br-




